Practice and Misc. ques.

Concept Lecture - 4




A trader marks his goods at [40% Jabove the
cost price. He sells 70% of the|goods at the
marked price and the rest,/he sells by

allowing aAﬁP///discount on the
His percentage profit is: 22.%%.

wmﬁmﬁmaﬁm#m%
I Jfha war 8] 9% Ifea Ao W
70% UATA d°dr § 3 AY AT 3ifFa
Hed T 40% BT SHFT 9 T g 36T
mﬂuﬁraraﬁmm%?

a) 24.4 %23.2 )23.4 d)24.2

marked price.
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5 Radha marks her goods25% above the cost

1
% _q_gg:/ 25/ price. She sells 35% of goods at the marked

price, 40 % at tt 15% discount and the

+257/.4& IS/ +25. &{‘ZO/remalnmg at 20% discount. What is her
overall percentage gain?

T YAl FEIAT FT 36 A0TT Hed
¥ 25% 3% 3ifhd HI & 98 35%
Ixd 4 24l L Ny awast # 3ifha 77 W,40% A 15%

— | S—

W Y 5 |6 #A Be W, 3R AT A 20% A Fe W
wn %lmmqﬁammﬂmm
— > 11.25 b) 10
= __g_gr%__ B G 12,75
1 Z,1 g, x4
%30, ) E a0
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A marks his goods 25% above the cost
% price. She seIIs\/Zéﬂ/do of the goods at the
_,_)(J_ ._-X-— 4= market price. 60% at 25% discount and
Y 5 20 8 the remaining at 10% discount. What is
her overall gain or loss per cent?
A IR TEIH W HFT AT @
l0'6+5 7><<Le—e- 259 3fF AT ifFa F & T8
160 16 25% TEIHT A FAd AFT e W
g 5 3 S_GO%WsTTEFT 25% # FE W >
_ac aﬁ?rmaﬁa:‘rm%@tmwéam
-—%= Y.275 (‘%| 3:_? Fe AT AT gy ufdera
AT Y
%x =3 | a)Gain/amsT 15.124%
"E' ¥  b)Lloss/&1fa18.175 %
c) Loss/ &1f@3.125 %
%Gain/?ﬂﬂ' 4.375%
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@ A fruit merchant bought some bananas. One

' @ r ﬂb of them got rotten and were thrown away.

S He sold two fifth of the bananas with him at

5 15% profit and the remaining bananas at 10%
profit. Find his overall loss or profit percent?

Y $E Bl ANURY, F& Fd Glear g A
5 ¥l amr ¥ w2 Pww v 3k swfvw
—,ZIX'O“D-rg.’(j%-I-IZM w%sﬁ?ﬁﬁﬁmmmﬁwa;aﬁﬁ
o5 - # A2 e F 15% A WA AR A

S Fel P 10% F A W 91| IWFT AT
gfaera g ar ufaera oy F g
a) Profit, 9.6% b) Loss, 9. 6%
@foss, 10.4% d) Profit 10.4%
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Gita buys a plot of land for Rs. 96000. She
sells % of it at a loss of 6%. She wants to

make a profit of 10% on the whole
transaction by selling the remaining land.
The gain % on the remaining land is

T 96000 3#wa-m?r$raarsr

wlieeh 3| 97 swwT - Rwwm 6% @

waa?ﬁ%la?qfravﬁ;rww%ma
FAT TRt & At I g o

fraar ufaera «mer av S97
a) 20 \,Kfzog
¢) 14 d)7
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A man purchased 150 pens at the rate of
Rs. 12 per pen. He sold 50 pens at a gain of
10%. The percentage gain at which he sell
remaining pens so as to gain 15% of the
whole outlay is

T ogfdd 12 ¥ 9fad 9 & fRume @
150 9 @iedr 8] 98 50 9T 10% oS
W a7 a1 | 98 AT 9 fFaar wfaera
I W 9T aifd 3/ FA 15% 19
qred 81?

a) 17% /{17%%

0)215% d) 20%
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A man buys goods for X 8,000. He sells 30% of
those goods at a profit of 12% and 40% of

5
_%X%?-f—__xs-)(l-go/the remaining goods at a profit of 25%. At

what profit percentage should he sell the
remaining goods to gain 30% in the entire
transaction (correct to one decimal place)?
FIE AEHT X 8,000 A F& WA GleaT §
| 98 39 AATT hT 30% AT, 129% ©TH
W a9dr § AR AT AW F 40% HT H
25% & TN YT d9dT §] W dAdeT A
30% @ Wtd & & faU, 3@ AW
AT I A gfderd (GIAdT & TH
T d& Hal) W 9T grem?

a) 42.6% J46.2%

c)48.4% d) 31.6%

8
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X =30

A dealer bought some toys for X1800. He sold
40% of these at a loss of 15% and 33 % % of

the remaining toys at 20% profit. At what
percent profit should he sell the remaining
toys to earn an overall profit of 10%?

T& fashdr F 21800 H o @l @il
3AY SAH ¥ 40% TRAETAT F 15% @y
Wa‘maﬁtewﬁﬁssg% faalat #
20% @ W a9 Fer AeTHRT 109 aTe
g F & faw, 30 Ay @alat fFas
o187 gfaerd @ gIfgu?

a) 20 % 30%

c) 24% d) 25%
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A trader purchased 500 kg of sugar at 40
per kg. He sold 200 kg of it at a profit of
Q_O_¢X|0 _Mx5+j§¢%=567{x12. 10% and 120 kg at a loss of 5%. At what
L ) rate per in X correct to 2 decimal places)
should he sell the remaining sugar to gain

dD  12% on his initial investment?

1% -0 HIS AT, 40 9fa kg $r & A 500 kg

X = B \460 Hist @digar 8| ag 200 kg A 10% F
_\%xlcrgi—;m o T AR 120 kg P50 A gfT W

A IIdT 3] 9N URfAE FET W 12%
arr & fav, 3@ 9fd kg fFE & (X A,

_50 el FY dwaT TRE?

Q}f ﬂ d/;B 67 b) 52.33

0.22 d) 44.80
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Amita buys 100 apples at the rate of 12 for X
100.80 and 200 apples at the rate of 15 for X
117. It was found that 10% of the apples
were spoilt. She sold all the apples at 20 for
X204. Her profit percentage in entire
transaction is:

FfAGr, 2100.80 F 12 fr T & 100 AT
T § 3 %117 & 15 6 T T 200
A9 @l B I8 9= T F 10%
A9 @O &I 9g 2204 ¥ 20 o T A
Foft A A &t ¥ QAT F IHFT A9
gfaera AT

a) 14.25% b) 15.5%

A14.75% d) 15.25%

|SSC MTS, 14 Oct 2021, Si 1



ygo Sp=6av P

A shopkeeper bought 600 pens. He sold 480
of them for the price he paid for 600 pens,
100 pens at 10% higher rate than that at
which he sold 480 pens, and the rest at the
cost price. His profit percentage in the
transaction is:

e 600 9T @Wlear &l 48
3AH 480ﬁ:r$‘r3'\=ru—arwm%
v o9 w 3@a 600 9 @l o,
100 9T Y a2 I 480 O F T X
10% 3% Fea W duar § 3R AW
9T F HT Hed W 9T | 50 def-3
# 3HERT A1 AT AT F

a) 28.5% b) 27%

c) 25% \8126.25%
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&lo A person has many pet cats and
dogs. Every day he feeds 3 breads to
SOX%:- —/50 each cat and 5 to each dog. If the
6 daily consumption of bread is 210
O - 30 OI’D?& pieces and total number of animals
is 50 then find the number of cats.

20 (ods. T ART & U IS IIe]

ffeaat fr g&ar A g F}
a) 25 b) 15
c) 30 20




$Ex5= ya 5
_280

YS et

380 mangoes are distributed among

some boys and girls who are 85 in
number. Each boy gets four mangoes and
each girl gets five. The number of boys is

380 AT & $& wsHl AR SRRl
# o frar amar @ e g
e 85 1 I UAF @5F H 4
HH I dAF dShH w5 A

Ao §, ar a5 fT & A9 X
a) 15 b) 35
c) 40 _4YAS




A man has some hens and cows. If
W the number of heads : number of
feet= 12: 35, find out the number
(48 {(40 of hens, if the number of heads

XZ —Oié 1a_:ll_‘:l);neais48. 5 a 3,—3' ﬁ )
Ii.iEI “i.ia;"
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The population of a village was 9800.
In a vyear, with the increase in
population of males by 8% and that
of females by 5%, the population of
the village became 10458. What was
the number of males in the village
before increase?
UH AT N FAEEAT 9800 Al
UF ¥ H g HT FEAT H 8%
aur Aant # w@Ear F 5% #
doay @ F FROUT AE@ A
SAGEAT 10458 @ ST § | ar
aaﬁafr a 2;3? ?na A gest #;
?

] /4200 b) 4410
A4Y5600 d) 6048

| | 16
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382

| 574
— 1 JYé
§ —.3%60

9220

The present population of a village
(males and females) is, 7640. If the
number of males increases by

25% and the number of females

increases by 15%, then the population

will become 9214. The difference
—_— A~~~

between the present population of
males and females in the village is:

et aifa F adAE FAEEaT (e 3
#i%m&ﬁ)764o%|uﬁwq’rfrmﬁ
25% # gefr ot ¥ Ak wRemst #
wear & 15% # FEw @ ¥ &
SIAEEAT 9214 g Swdi| g F qout IR
Afgeat A gAAT FaEEAr F AT F;
AT AT

a) 820 } 960
c) 940 920

| SSC CHSL 2020 |7




‘ A person invested one-fourth of the sum of
J -3 t a certain rate of simple interest and
Z‘/ @'l'('o Y. the rest at 4% p.a. higher rate. If the total
- interest received for 2 years is 4,125, what is

the rate at which the second sum was invested?
2’502.-!— 2X1LSEDOXT e =afdd T 25000 # AR F vEH-IUE
T T HTYROT sIToT HT T fAfdad g7 w
) \gmaﬁtawma»—rzt% yfa af i 3=ueT W
/%'%, 465 Kﬁa‘erm%luﬁzaﬁa:mmr
X =25 2 4125—zrrsrwv—cr€l?ﬁ%a’rﬁ%araﬁrmh

% = U gl AT ST 4T @efi?

T <5.28.,  a)9.5% 9.25% ¢)5.25% d)7.5%
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A person invested a sum of @at x% per
annum at simple interest and a sum of
37,506—and (x — 2)% per annum at simple
interest. If the total interest earned on both
the investments for 3 years is X3,750, then
the rate of interest on the first investment is:
TH gfFd 6,500 HT AU H x%
aIi¥eh WTROT ST &3 W 3 27,500 FHY
AU F (x — 2)% TS WTUROT sATSA
X W At w3 a6 & v afSa Fa
SaTeT 23,750 ¥, @ Uger PR W ST

$T T fhael, g2
a) 14% 10% c) 8% d) 12%

|SSC MTS, 12 Oct 2021, Sﬂg
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A person buys @ and for

25,700. He sells the tables at 12% profit

NN —_—_—
and chairs at 19% profit. If his total profit on

selling all the tables and chairs is 4358
rupees. What is the cost price of 5 chairs and
4 tables?

UF giad 15 A IR 26 FAA ;T
25,700 # @lgdar g g A T 12
yfaera @mer 3R FRAA A 19 gfvea
aH W Sgar g Iy @t ASr 3k
AT F TS W IR FA AT
4358 gar 8, @ 5 FRAAT AR 4 A F

FI-Hed FIT 87
a) 5700 b) 5000 c) 4800 / 5500

| GP | 20




A Rs 1000 box of cookies is offered at 10%

discount and a Rs 400 bar of chocolate at

8% discount. If we buy 2 boxes of cookies
e Smm—

and 3. bars of chocolate, what is the

effective discount we get?

1000 TF F FHhS F TH diFd W
10% # ge & o § 3R 400 T &
TF I8 W 8% # T
ardt § I &7 TS F 2 arFg 3
3 maﬂaﬁ%?ﬁsﬁm

&
Rraelt e et
¢) 8.75 d) 8.5

%
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A Rs.750 tin of cheese is offered at 8%
discount and a Rs.1250 tin of butter at
20% discount. If we buy 5 tins of cheese
and 3 tins of butter, What is the effective
discount we get (in %)

750 T4 & HfiTT & e 9T 8% #T ge
& ey ¥ 3 1250 T ¥ e A &
T 20% A ge & S § I &
& 5 foeT 37X & 3 e @l
g v ge Aaefi?2(% #)
2 b) 15 14 d) 16

2ad

Q
p—

)
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A man sells apples, bananas and oranges at
20%, 25% and 30% profit, respectively. If
the ratio of the cost of the fruitsis2 : 3 : 5,
and the fruits are sold in the ratio 5: 4 : 2,
then his profit percentage is: [0f12%10
UF giFd VY, heal IR TAY HAW
20%, 25% 31 30% F o R a°dT g
i wel F FT AwAl F AT 2: 3 :
5 % 3R W 5:4:2 FT U A A
Gn?T%, R
a) 18% b) 30%
c) 20% /VZS%

| SSC MTS, 22 Oct 2021, S{ 3
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The cost of a table is 200% more than the cost
of a chair and the cost of a chair is 20% less
than that of an almirah. If the cost of each
table and chair is decreased by 25% and the
cost of an almirah is increase by 25%, then the
percentage increase/decrease in the total cost
of 4 tables., 5 chairs and 8 almirah is: (correct
to one decimal place)

UF AT F Hed, UH FH F AT @

o

ZOO%M%WWWWW,W
IHAANT & Wﬁzo%ﬂ'%lmﬁﬁ
i Flf & W#ZS%a?ra?maﬁaﬂT
UF FAAN § HeT A 25% #1 R @
9T

4 A0, 5FAAT 3R 8 IrARAT & For

decrease by 6.5% b) increase by 5.5%
c) increase by 4.2% d) decrease by 6.9%

| ICAR 5 Mar 2022, S2 |Z4



A salesman sells two kinds of trousers-cotton and
woollen. A pair of cotton trousers is sold at 30%
profit and a pair of woollen trousers is sold at
50% profit. The salesman has calculated that if he
sells 100% more woollen trousers than cotton
trousers, his overall profit will be 45%.//However
he ends up selling 50% more cotton trousers than
woollen trousers. What will be his overall profit?

wF faFar gt dR Fel @ yER At gads
m%w?hqaa?ra?rwsﬂ?mo%a;m
W A St ¥ AR S gaesT @ ve A
50 % % W7 UX A Srdt ¥ Rar A
FAT § T A a8 Gl g dr geer J
Sl gdee 100% ¥HUF d=ar ¥, Al IwE
mm45%a’mr|gmﬁ:agﬁhma?r
m#aﬁmso%aﬁmaﬁwﬁﬁ
a8 FT T ¥ 3WHT AT fhdaT gem?
a)37.5% 40%

c) 41% d) 42.33%

| | 25
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